
Ż Ę

a2 =?  
dla a=15,25,34,45,55,65,75,85,95,105,115 

Przykład 1: 

152=15 15=? 
 Krok 1: 1 (   )        

 Krok 2: 5 5=25 

 Krok 3: 15 15=225 

 Odpowiedź: 152=225 

Przykład 2: 

352=35   =? 
 Krok 1: 3 (   )         

 Krok 2: 5 5=25 

 Krok 3: 35   =1225 

 Odpowiedź: 352=1225 

Przykład 3: 
Zadanie Krok 1 Krok 2 Krok 3 Odpowiedź 

452=? 
                

           452=     
  (   )     =20        

Przykład 4: 
Zadanie Krok 1 Krok 2 Krok 3 Odpowiedź 

          
                    

              1152=      
   (    )       =132        

Oblicz w pamięci:            55                                                                        
Powodzenia! 
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Licz sprytnie! 

 


